Angle Relationships
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| Adjacenvangles are two angles that lie in the same plane and have a common vertex and a common
| side, but ne common interior points.

Examples £ 1 and £2 gre adjacent angles. Nonexamples 3 and LABC arg nonadjacent
angles
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A Ilnmr nur is a palr of adjacent angtes with noncommon sidas that are opposite rays.

Example 21 and £2 Nonexample ZAOBand ZADC
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Vertical'angles are two nonadjacent angies formed by two intersecting lives.

Examples 21 and <2, £3and £4 Nonexample £ AEBand LDEC
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| KeyGoncept Angle Pair Relationships ]
Vertical angies are congruent. i Cop
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Examples <ABC = 7 08F and £ ABD = < CBE - Of
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complemantary angles are two angles with *
measures that have a sum of 80. " \
Exampies <1 and £2 are complementary. ! ,;"' a5 il
2A s complamentary to 28 — > 2 ‘L =
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» mlmmm are two angrea with me'asa.-res -
¢ that have 3 sum of 140. ~--’\_'_"-~. 4
Exampies <3 and 24 are supplemantary. T -
£ P and £ Q are supplementary. » :
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The angles il:l o linear pair are supplmnenta-ty —————
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Example mol + ms2 = 180 \



| & KeyConcept Perpendicular Lines ]

« Perpendicular lines intersect to form four right angles. . A 8
s Parpendicular lines intersect §0 form congruent adjacent angles. -
« Segments and rays can be perpendicular to lines o other line sigments
and rays.
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« The right angle symbol in the tigure indicates that the lines are < =
perpendicular
| Symbol _L is read &5 perpendicular lo. ' Example Al 1. CH
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1A. Name two acute vertical angles. ZJ@I} LFEH <o
I

1B. Name two complimentary nonadjacent angles.
P Mo P o, LFED

1C. A linear pair whose vertex is F
e, LFH

1D. An angle supplementary to £GBC. A D \
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Find the value of the variable.

2A. p.51:20 5 o 7)( 20 = 120 {525“/ 2B. p.51:22
5x 7x + 80 / 7 e
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6(2.719) H9 +Yx =190 107 = Yy

p.52:28 16%.5 {#‘ - ’i’;s 26.75 = y

2C. 23 and 24 form a linear pair. The measure of £3 is ﬁve more than twice the measure of £4. Find
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the measure of each angle.

ml3=2xt5
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p.52:34

2D. Rays AB and BC are perpendicular. Point D lies in the interior of ZABC. If m2ZABD=4r+8 and
m«DBC=6r - 18, find mzABD and m«DBC.

wlABD +mLDBL = SO

2 Lfy‘-,—'g + bf‘}g:‘* (?O

A = WIABD=Ur § — 10 = Qy
5 = Y/0)+2= 48 o ; _90
‘ LDRL= 18 sl
p.52:36-41 =6l0)-18= Y2 r=10

. Determine whether each statement can be assumed from the figure. Explain.

3A. £GHM and £JHK are VEI’tIC"ll a ZLI%
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3B. £GHL and 2LH]J are supplementary. H' A
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3C. 2GHM and £MHL are adjacent.
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